Exponentials with fractional powers.
$$a > 0$$

 $\left(a^{\frac{5}{2}}\right)^{2} = a^{\frac{5}{2} \cdot 2} = a^{5} = 2a^{\frac{5}{2}} = \sqrt{a^{5}}$
 $p_{1}q > 0$ integers.
 $\left(a^{\frac{4}{7}}\right)^{q} = a^{\frac{7}{7} \cdot q} = a^{\frac{4}{7}} \Rightarrow a^{\frac{7}{7}} = \sqrt{a^{\frac{4}{7}}}$
In general:
 $a^{\frac{1}{7}} = \sqrt{a}$
 $\frac{1212}{2} = 2^{\frac{1212}{1000}} = \frac{1000}{\sqrt{2}^{12/2}}$
 $\frac{12}{12}$
 $\frac{\pi}{2} = 2^{\frac{1212}{1000}} = \sqrt{2}^{\frac{1000}{2}}$
 $\frac{\pi}{2} = 3.1415....$
 $a^{\frac{\pi}{12}}$ is close to $a^{3}_{3.11}$
closer to $a^{3.14}$
 $\frac{12}{12}$
 $\frac{\pi}{12}$
 $\frac{\pi}{12}$ and anore precise a proximations.
 $\Rightarrow \frac{\pi}{12}$ thing a limit.

.



Ex: Growthe rates of bacteria.
Assume every second, a bacterium splits
into two.

$$t$$
 time, in seconds.
 $n(t)$ number of bacteria at time t.
 $n(0)$
 $n(1) = 2 n(0)$
 $n(2) = 2 n(1) = 2^2 n(0)$

$$m(3) = 2 \cdot n(2) = 2^{3} m(0)$$

 2^{2}
 $m(t) = 2^{t} m(0)$





The graph of f is obtained from the mirror in age of the graph of f, across the diagonal at 45°.







Special case:
$$x = /$$

 $log_a(\frac{1}{3}) = log_a/ - log_a y = -log_a y$
 $= 0$







$$= \left(\begin{array}{c} b & b & b \\ a & a \\ \end{array} \right)^{b} \left(\begin{array}{c} a & a \\ a & a \\ \end{array} \right)^{a} = a & b & a \\ \end{array}$$

$$= a & b & a \\ \begin{array}{c} a & a \\ \end{array} \right)^{a} = x \\ \begin{array}{c} a & a \\ \end{array}$$

$$= a & b & a \\ \end{array}$$

$$= x \\ \begin{array}{c} a & a \\ \end{array}$$

$$= x \\ \begin{array}{c} a & a \\ \end{array}$$

$$= x \\ \begin{array}{c} a & a \\ \end{array}$$

$$= x \\ \begin{array}{c} a & a \\ \end{array}$$

$$= x \\ \begin{array}{c} a & a \\ \end{array}$$

$$= x \\ \begin{array}{c} a & a \\ \end{array}$$

$$= x \\ \begin{array}{c} a & a \\ \end{array}$$

$$= x \\ \begin{array}{c} a & a \\ \end{array}$$

$$= x \\ \begin{array}{c} a & a \\ \end{array}$$

$$= x \\ \begin{array}{c} a & a \\ \end{array}$$

$$= x \\ \begin{array}{c} a & a \\ \end{array}$$

$$= x \\ \begin{array}{c} a & a \\ \end{array}$$

$$= x \\ \begin{array}{c} a & a \\ \end{array}$$

$$= x \\ \begin{array}{c} a & a \\ \end{array}$$

$$= x \\ \begin{array}{c} a & a \\ \end{array}$$

$$= x \\ \begin{array}{c} a & a \\ \end{array}$$

$$= x \\ \begin{array}{c} a & a \\ \end{array}$$

$$= x \\ \begin{array}{c} a & a \\ \end{array}$$

$$= x \\ \begin{array}{c} a & a \\ \end{array}$$

$$= x \\ \begin{array}{c} a & a \\ \end{array}$$

$$= x \\ \begin{array}{c} a & a \\ \end{array}$$

$$= x \\ \begin{array}{c} a & a \\ \end{array}$$

$$= x \\ \begin{array}{c} a & a \\ \end{array}$$

$$= x \\ \begin{array}{c} a & a \\ \end{array}$$

$$= x \\ \begin{array}{c} a & a \\ \end{array}$$

$$= x \\ \begin{array}{c} a & a \\ \end{array}$$

$$= x \\ \begin{array}{c} a & a \\ \end{array}$$

$$= x \\ \begin{array}{c} a & a \\ \end{array}$$

$$= x \\ \begin{array}{c} a & a \\ \end{array}$$

$$= x \\ \begin{array}{c} a & a \\ \end{array}$$

$$= x \\ \begin{array}{c} a & a \\ \end{array}$$

$$= x \\ \begin{array}{c} a & a \\ \end{array}$$

$$= x \\ \begin{array}{c} a & a \\ \end{array}$$

$$= x \\ \begin{array}{c} a & a \\ \end{array}$$

$$= x \\ \begin{array}{c} a & a \\ \end{array}$$

$$= x \\ \begin{array}{c} a & a \\ \end{array}$$

$$= x \\ \begin{array}{c} a & a \\ \end{array}$$

$$= x \\ \end{array}$$

$$= x \\ \begin{array}{c} a & a \\ \end{array}$$

$$= x \\ \begin{array}{c} a & a \\ \end{array}$$

$$= x \\ \begin{array}{c} a & a \\ \end{array}$$

$$= x \\ \end{array}$$

$$= x \\ \begin{array}{c} a & a \\ \end{array}$$

$$= x \\ \end{array}$$

$$= x \\ \begin{array}{c} a & a \\ \end{array}$$

$$= x \\ \begin{array}{c} a & a \\ \end{array}$$

$$= x \\ \begin{array}{c} a & a \\ \end{array}$$

$$= x \\ \end{array}$$

$$= x \\ \begin{array}{c} a & a \\ \end{array}$$

$$= x \\ \end{array}$$

$$= x \\ \end{array}$$

$$= x \\ \begin{array}{c} a & a \\ \end{array}$$

$$= x \\ \end{array}$$

$$= x \\ \begin{array}{c} a & a \end{array}$$

$$= x \\ \end{array}$$

$$= x \\ \end{array}$$

$$= x \\ \begin{array}{c} a & a \end{array}$$

$$= x \\ \end{array}$$

$$= x$$

$$= x \\ \end{array}$$

$$= x$$

$$= x$$

$$= x \\ \end{array}$$

$$= x \\ \end{array}$$

$$= x$$

$$=$$

$$E_{X} e^{\$(\ln 2)(\log_{2} \times)} = \left(e^{\ln 2} \right)^{\$ \log_{2} \times}$$

$$= \left(e^{\log_{2} \times} \right)^{\$} = \times^{\$}$$

$$\sum_{X} \frac{1}{2} \frac{1}$$

$$\frac{\text{Ex}}{\underline{x}} : 1 + \frac{1}{2} + \frac{1}{4} + \frac{1}{8} + \frac{1$$

Rate of change of a function.



$$\underbrace{\text{Def}}_{k \to 0} f'(x) = \lim_{k \to 0} \frac{f(x+k) - f(x)}{k} \quad \text{devivative of } f$$

$$\begin{aligned}
\frac{f(x)}{(x^2)'} &= \lim_{\substack{k \to 0}} \frac{f(x+h) - f(x)}{h} = \lim_{\substack{k \to 0}} \frac{(x+h)^2 - x^2}{h} \\
&= \lim_{\substack{k \to 0}} \frac{x^2 + 2xh + h^2 - x^2}{h} \\
&= \lim_{\substack{k \to 0}} \frac{x^2 + 2xh + h^2 - x^2}{h} \\
&= \lim_{\substack{k \to 0}} \frac{(2x+h)}{h} = 2x \\
&= \lim_{\substack{k \to 0}} \frac{e^{x+h} - e^x}{h} \\
&= \lim_{\substack{k \to 0}} \frac{e^x e^h - e^x}{h}
\end{aligned}$$

$$= e^{x} \lim_{h \to 0} \frac{e^{h-1}}{h} = e^{x} \lim_{h \to 0} \frac{e^{h+1}}{h}$$

$$= e^{x}$$

$$E_{\mathbf{x}} : \lim_{\mathbf{x}\to 1^{-}} \frac{\mathbf{x}^{\mathbf{x}-1}}{\mathbf{x}-1} = \lim_{\mathbf{x}\to 1^{-}} (\mathbf{x}+1) = 2$$

$$\lim_{\mathbf{x}\to 1^{+}} \frac{\mathbf{x}^{\mathbf{x}-1}}{\mathbf{x}-1} = \lim_{\mathbf{x}\to 1^{-}} (\mathbf{x}+1) = 2$$

$$\lim_{\mathbf{x}\to a} f(\mathbf{x}) = \operatorname{exists} \quad \text{if and only if boths}$$

$$\lim_{\mathbf{x}\to a} f(\mathbf{x}) = \operatorname{and} \lim_{\mathbf{x}\to a^{+}} f(\mathbf{x}) = \operatorname{exist}, \text{ and they have}$$

$$\lim_{\mathbf{x}\to a^{-}} f(\mathbf{x}) = \operatorname{and} \lim_{\mathbf{x}\to a^{+}} f(\mathbf{x}) = \operatorname{exist}, \text{ and they have}$$

$$E_{\mathbf{x}} = \operatorname{deft} \quad \operatorname{or} \operatorname{right} \lim_{\mathbf{x}\to a^{-}} f(\mathbf{x})$$

$$E_{\mathbf{x}} = \operatorname{deft} \quad \operatorname{or} \operatorname{right} \lim_{\mathbf{x}\to a^{-}} f(\mathbf{x})$$

$$E_{\mathbf{x}} = \operatorname{deft} \quad \operatorname{or} \operatorname{right} \lim_{\mathbf{x}\to a^{-}} f(\mathbf{x})$$

$$\lim_{\mathbf{x}\to a^{-}} f(\mathbf{x}) = \operatorname{tros} \quad \operatorname{or} - \operatorname{co}$$

$$\lim_{\mathbf{x}\to a^{-}} f(\mathbf{x}) = \operatorname{tros} \quad \operatorname{or} - \operatorname{co}$$

$$\lim_{\mathbf{x}\to a^{-}} f(\mathbf{x}) = \operatorname{tros} \quad \operatorname{or} - \operatorname{co}$$

$$\lim_{\mathbf{x}\to a^{-}} f(\mathbf{x}) = \operatorname{tros} \quad \operatorname{or} - \operatorname{co}$$

$$\lim_{\mathbf{x}\to a^{-}} f(\mathbf{x}) = \operatorname{tros} \quad \operatorname{or} - \operatorname{co}$$

$$\lim_{\mathbf{x}\to a^{-}} f(\mathbf{x}) = \operatorname{tros} \quad \operatorname{or} - \operatorname{co}$$

$$\lim_{\mathbf{x}\to a^{-}} f(\mathbf{x}) = \operatorname{tros} \quad \operatorname{or} - \operatorname{co}$$

$$\lim_{\mathbf{x}\to a^{-}} f(\mathbf{x}) = \operatorname{tros} \quad \operatorname{or} - \operatorname{co}$$

$$\lim_{\mathbf{x}\to a^{-}} f(\mathbf{x}) = \operatorname{tros} \quad \operatorname{or} - \operatorname{co}$$

$$\lim_{\mathbf{x}\to a^{-}} f(\mathbf{x}) = \operatorname{tros} \quad \operatorname{or} - \operatorname{co}$$

$$\lim_{\mathbf{x}\to a^{-}} f(\mathbf{x}) = \operatorname{tros} \quad \operatorname{or} - \operatorname{co}$$

$$\lim_{\mathbf{x}\to a^{-}} f(\mathbf{x}) = \operatorname{tros} \quad \operatorname{or} - \operatorname{co}$$

$$\lim_{\mathbf{x}\to a^{-}} f(\mathbf{x}) = \operatorname{tros} \quad \operatorname{or} - \operatorname{co}$$

$$\lim_{\mathbf{x}\to a^{-}} f(\mathbf{x}) = \operatorname{tros} \quad \operatorname{or} - \operatorname{co}$$

are equal to two or -
$$\infty$$

Limit laws
The Assume that lime $f(x)$, lime $g(x)$ both
exist and are finite.
Then: 1) dim ($\alpha f(x) \pm \beta g(x)$) = $\alpha \lim_{x \to a^{\pm}} f(x)$ both
 $x \to a^{\pm}$ ($\alpha f(x) \pm \beta g(x)$) = $\alpha \lim_{x \to a^{\pm}} f(x) \pm \beta \lim_{x \to a^{\pm}} g(x)$
for any time bers α, β .
a) dim $(f(x) \cdot g(x)) = (\dim_{x \to a^{\pm}} f(x)) \cdot (\lim_{x \to a^{\pm}} g(x))$
3) assume that $\lim_{x \to a^{\pm}} g(x) \pm 0$, Then,
 $\lim_{x \to a^{\pm}} \frac{f(x)}{g(x)} = \frac{\lim_{x \to a^{\pm}} f(x)}{\lim_{x \to a^{\pm}} g(x)}$
Note: The statements are true for $\lim_{x \to a^{\pm}} e^{x - g(x)}$
 $\lim_{x \to a^{\pm}} \int 0x \lim_{x \to a^{\pm}} e^{x - g(x) - g(x)}$
 $\lim_{x \to a^{\pm}} \int 0x \lim_{x \to a^{\pm}} e^{x - g(x) - g(x)}$
 $\lim_{x \to a^{\pm}} \int 0x \lim_{x \to a^{\pm}} e^{x - g(x) - g(x)}$

The fact that the fact value g(b) = 0 does not matter. Function value of $\frac{f(x)}{g(x)}$ at x = 0 is not defined.

$$\underbrace{E_{x}}_{x \to 0} f(x) = \frac{1}{x}, \quad g(x) = -\frac{2}{x}$$

$$\underbrace{f(x)}_{x \to 0} f(x) = +\infty$$

$$\underbrace{f(x)}_{x \to 0} f(x) = +\infty$$

$$\underbrace{f(x)}_{x \to 0} f(x) = -\infty$$

$$\underbrace{f(x)}_{x \to 0^{+}} f(x) = -\infty$$

$$\begin{array}{c} \hline & \\ \hline & \\ \hline & \\ \\ & \\ \\ & \\ \\ & \\ \\ & \\ \\ & \\ \\ \end{array} \xrightarrow{f(x)} + luin f(x) = lim + \frac{1}{x} + lim \left(-\frac{2}{x}\right) \\ & \\ & \\ & \\ & \\ \\ & \\ \\ & \\ \\ & \\ \\ \end{array} \xrightarrow{f(x)} + \infty \xrightarrow{f(x)} + \infty \xrightarrow{f(x)} + \frac{1}{x} \xrightarrow{f(x)} \xrightarrow{f(x)} + \frac{1}{x} \xrightarrow{f(x)} \xrightarrow{f(x)} + \frac{1}{x} \xrightarrow{f(x)} \xrightarrow{f(x)} + \frac{1}{x} \xrightarrow{f(x)} \xrightarrow$$

$$E_{x} = 7 + \infty = \infty$$

$$I_{s} = 0 = 0 \text{ convect} \qquad NO \qquad M_{s}$$

$$I_{f} \text{ yes, then}$$

$$7 = 7 + 0 = 7 + \infty - \infty$$

$$= \infty - \infty = 0$$

$$I_{mposorble} = 0 \qquad -\infty \quad \text{woth zero}$$

$$it's \quad \text{undefined}$$

$$E_{X} = 3 \times 00 = 0$$

$$|s = \sqrt{20} = | \text{ convect ? MO}(||)$$

$$I_{f} = g_{x}, \text{ then}$$

$$3 = 3 \times 1 = 3 \times \frac{\infty}{00}$$

$$= \frac{3 \times 00}{0} = \frac{0}{0} = |$$

$$I_{u} \text{ possible} = \frac{0}{0} \text{ is usp} 1$$

$$ifs \quad \text{ underfined}$$

$$\frac{1/18/7018}{1} \cdot \frac{1}{16} \quad \text{ f(x) } \leq g(x) \text{ for all } x \text{ arean } a \text{ (except possible} \text{ and } a \text{ if } s \text{ underfined}$$

$$\frac{1/18/7018}{1} \cdot \frac{1}{16} \quad \text{ f(x) } \leq g(x) \text{ for all } x \text{ arean } a \text{ (except possible} \text{ and } a \text{ if } s \text{ underfined}$$

$$\frac{1/18/7018}{16} \cdot \frac{1}{16} \quad \text{ f(x) } \leq g(x) \text{ for all } x \text{ arean } a \text{ (except possible} \text{ possible} \text{ and } a \text{ if } s \text{ in } f(x) \text{ and } \lim_{x \to a} g(x) \text{ both}$$

$$exist (unst uncervarily pluite)$$

$$Then:$$

$$\lim_{x \to a} f(x) \leq \lim_{x \to a} g(x).$$

$$This is also have if \lim_{x \to a} is appaced for luming (x) \text{ or } \lim_{x \to a^{-1}} \cdots$$

$$E_{X}: \lim_{x \to a^{-1}} \frac{1 + x^{+}}{x \to 0^{+}} \geq \lim_{x \to 0^{+}} \frac{1}{x^{5}} = 00 \quad (\text{because} \text{ if } x^{+} \text{ if } x^{+} \text{ or } x^{+} \text{ if } x^{+} \text{ or } x^{+} \text{ if } x^{+} \text{ if } x^{+} \text{ or } x^{+} \text{$$

 $\frac{\text{The } (\text{squeeze})}{\text{If } f(x) \leq g(x) \leq h(x) \text{ for all } x \text{ near } a (\text{except})} \\ \text{ for } f(x) \leq g(x) \leq h(x) \text{ for all } x \text{ near } a (\text{except}) \\ \text{ for } f(x) \leq a \text{ and all have well-defined limits as x+a} \\ (\text{not necessarily finite}) \\ \text{ lime } f(x) \leq \lim_{x \to a} g(x) \leq \lim_{x \to a} h(x) \\ \text{ x+a} \quad \text{ for } f(x) = L = \lim_{x \to a} h(x) \\ \text{ lime } f(x) = L = \lim_{x \to a} h(x) \\ \text{ for } f(x) = L = \lim_{x \to a} h(x) \\ \text{ for } f(x) = \frac{1}{x + a} \quad \text{ for } f(x) \\ \text{ for } f(x) \\ \text{ for } f(x) = \frac{1}{x + a} \quad \text{ for } f(x) \\ \text{ for } f(x$

 $\frac{F_{x}}{F_{x}} = x^{2} \sin \frac{1}{x}.$ $\int \frac{1}{1} \int \frac{1}{$



Limits at influity, horizontal asymptotes.
Limits at influity, horizontal asymptotes.

$$Def \qquad \lim_{x \to \pm \infty} f(x) = L$$
"f(x) approaches L with arbitrary precision as
 $x \text{ proves to } \infty$ (respectively, to $-\infty$)

$$f(x) = \frac{3 \times ^{3} + 2 \times ^{2} + 1}{4 \times ^{3} - x}$$

$$\lim_{x \to \infty} f(x) = \lim_{x \to \infty} \frac{x^{2}(3 + \frac{2}{x} + \frac{1}{x^{2}})}{x^{2}(4 - \frac{1}{x^{2}})}$$

$$\lim_{x \to \infty} (3 + \frac{2}{x} + \frac{1}{x^{2}})$$

$$\lim_{x \to \infty} (3 - \frac{2}{x} + \frac{1}{x^{2}}) = \frac{3}{4}$$

$$\lim_{x \to \infty} (x - \infty)$$
and $\lim_{x \to \infty} y f(x)$ and $\lim_{x \to \infty} y f(x)$









$$\lim_{x \to 0^+} f(x) \text{ does ust exist} \implies \operatorname{hot} \operatorname{left} \operatorname{contribuous at } 0$$

$$\lim_{x \to 0^+} f(x) = 0 = f(0) \xrightarrow{} \operatorname{night} \operatorname{contribuous at } x = 0.$$

$$\operatorname{Not} \operatorname{contribuous at } x = 0 =$$

$$\frac{Thm}{If} (continuity laws)$$

$$If f and g are containous at x=a, then so are a f \pm p q (a, \beta some numbers)$$

$$f \cdot g$$

$$\frac{f}{g}, if g(a) \neq 0.$$

$$\frac{E_{x}}{E_{x}} = 5 \text{ for the equation}$$

$$f(x) = 4 x^{3} - 6 x^{2} + 3 x - 2 = 0$$

$$\text{ has a root between } x = 1 \text{ and } x = 2.$$

Left and right derivatives
Reall: Derivative of
$$f$$
 at x $f(x+h)$
 $f'(x) = \lim_{h \to 0} \frac{f(x+h) - f(x)}{h}$ $f(x) - f(x)$
 $f(x) = \lim_{h \to 0} \frac{f(x+h) - f(x)}{h}$

Shope of tangent line of
$$f(x | i)$$
.
If $f'(x) = x_i + s_i$, we say that f is different table
at x .
Def Left derivative of f at x :
 $f'_{-}(x) = \lim_{h \to 0^{-}} \frac{f(x+h) - f(x)}{h}$
Right derivative of f at x :
 $f'_{+}(x) = \lim_{h \to 0^{+}} \frac{f(x+h) - f(x)}{h}$
 $f(x) = \lim_{h \to 0^{+}} \frac{f(x+h) - f(x)}{h}$
 $f(x) = x, x > 0$
 $x > 0 \Rightarrow f'(x) = 1$
 $x = 0 \Rightarrow f'(x) = -1$
 $f(x) = \lim_{h \to 0^{+}} \frac{f(0+h) - f(0)}{h} = \lim_{h \to 0^{+}} \frac{h - 0}{h} = 1$
 $f'_{-}(x) = \lim_{h \to 0^{-}} \frac{f(0+h) - f(0)}{h} = \lim_{h \to 0^{-}} \frac{h - 0}{h} = -1$
 $f'(x) = -1$ for $x > 0$

There is un derivative at zero because
lim
$$\frac{f(o+k)-f(o)}{h}$$

h=>0 h
Cannot exist : The left limit and the right limit
are note the same.

$$\underline{Ex}: \quad Check this!$$

Nead to abeck that $\lim_{x \to a} f(x) = f(a)$
 $\lim_{x \to a} f(x) - f(a) = 0$
 $\lim_{x \to a} x = a + h$
 $\lim_{h \to 0} f(a+h) - f(a) = 0$
 $\lim_{h \to 0} \frac{f(a+h) - f(a)}{h} = 0$

$$\begin{pmatrix} \lim_{h \to 0} \frac{f(a+h) - f(a)}{h} \end{pmatrix} \cdot \begin{pmatrix} \lim_{h \to 0} h \end{pmatrix} = 0, \\ \int_{h \to 0} \frac{f'(a)}{h} \cdot 0 \end{pmatrix} = 0.$$

Ex Time or false:
If
$$\lim_{x\to 6} (f(x), g(x))$$
 exists, then it equals $f(6):g(6)$
 $-) F:$ Only the if both f, g are continuous
at $x=6$.

Ex True or false:
If the line x=0 is a vertical asymptote of

$$f(x)$$
, then f is rust defined at x=0,
 $f(x) = \int_{1}^{1} \frac{1}{x^2} - \frac{1}{x^2} + \frac{1}$

$$\underbrace{E_{X}}_{X \to 0} \text{ The or } \underbrace{fds:}_{X \to 0} \text{ for } exists_{x \to 0} \text{ for } exist_{x \to 0} \text{ for } exist$$

16/2/2018

Derivatives: Product rule, quotient rule, chain rule.
Then Assume f, g deflorent able et x. Then,
Product rule:
$$(f(x) \cdot g(x))' = f'(x) \cdot g(x) + f(x) \cdot g'(x)$$

Quotient rule: $(\frac{f(x)}{g(x)})' = \frac{f'(x) \cdot g(x) - f(x) \cdot g'(x)}{g'(x)}$
 $g(x) \neq 0$.

$$E_{x} \quad (heak + f(a + f(x-du ct rule .) - f(x) \cdot f(x)) = f(x) \cdot f(x) + f(x) + f(x) \cdot f(x) + f(x) + f(x) \cdot f(x) + f(x) +$$

$$\frac{E_{x}}{f(x)=x} (x^{2})' = (x \cdot x^{2})' = 1 \cdot x^{2} + x \cdot (2x) = 3x^{2} - \frac{f(x)=x}{g(x)=x^{2}} \frac{f(x)=1}{g(x)=x^{2}} \frac{f(x)=1}{g(x)=2x}$$

$$\frac{E_{x}}{f(x)} \left(\frac{1}{g(x)}\right)' = \overline{\zeta} + \frac{1}{g(x)} \frac{1}{g(x)} + \frac{1}{g($$

$$= f'(x) \cdot \frac{l}{g(x)} - f(x) \frac{q'(x)}{q^2(x)}$$

$$= \frac{f'(x)}{g(x)} \sim \frac{f(x)g'(x)}{g^2(x)}$$
$$= \frac{f'(x) \cdot g(x) - f(x) \cdot g'(x)}{g^2(x)}$$

$$\frac{E_{x}}{E_{x}} \left(\frac{e_{x}}{x}\right)' = \frac{e^{x} \cdot x - e^{x} \cdot 1}{x^{2}} = e^{x} \cdot \frac{x-1}{x^{2}}$$

$$\frac{E_{x}}{x^{2}} \left(\frac{x^{2}+1}{x-2}\right)' = \frac{2x \cdot (x-2) - (x^{2}+1) \cdot 1}{(x-2)^{2}}$$

$$\frac{f(x) - x^{2}+1}{f(x) - 2x} = \frac{2x^{2} - 4x - x^{2} - 1}{(x-2)^{2}} = \frac{x^{2} - 4x - 1}{(x-2)^{2}}$$

Thue Assume
$$g(x)$$
 is differentiable at x , and f is
differentiable at $g(x)$. Then,
 $\left(f(g(x))\right)' = f'(g(x)) \cdot g'(x)$
 $E_x \quad f(x) = e^x \quad f(g(x)) = e^{x^2} \quad f'(x) = e^x$
 $g(x) = x^2 \quad f(g(x)) = e^{x^2} \quad f'(x) = 2x$.
 $\left(e^{x^2}\right)' = f(g(x)) \cdot g'(x)$
 $f(g(x)) = e^{x^2} \cdot 2x$
 $f'(g(x)) = e^{x^2} \cdot 2x$
 $f'(g(x)) = e^{x^2} \cdot 2x$

$$= \frac{1}{e^{x}} \cdot \frac{e^{x}}{e^{x}} - \frac{1}{e^{x}} \cdot \frac{e^{x}}{e^{x}} - \frac{1}{e^{x}} = \frac{1}{e^{x}} \cdot \frac{1}{e^{x}} = \frac{1$$

$$\begin{aligned} \left(a^{x}\right)' &= a^{x} \cdot b_{\cdot a} \\ \left(a^{x}\right)' &= ? \\ f(x) = a^{x} \quad f'(x) = a^{x} b_{\cdot a} \\ g(x) = x^{3} \quad g'(x) = 3x^{t} \\ &= a^{x^{3}} b_{\cdot a} \cdot (3x^{2}) \\ &= x^{3} b_{\cdot a} \cdot (3x^{2}) \\ &= x^{t}(g(x)) \end{aligned}$$

$$\begin{aligned} & \text{Ex} \quad r \text{ real number } \\ \left(x^{r}\right)' &= ? \\ \left(e^{t_{x}x}\right)^{r} &= e^{r \cdot b_{x}x} \\ \left(e^{t_{x}x}\right)^{r} &= e^{r \cdot b_{x}x} \\ f(x) = e^{x} \quad f'(x) = e^{x} \\ g(x) = r \cdot b_{x} \quad g'(x) = r \cdot \frac{1}{x} \\ &= e^{r \cdot b_{x}x} \\ &= x^{t} \cdot r \cdot \frac{1}{x} \\ &= r \cdot x^{r-1} \end{aligned}$$



$$E_{x} = F(x) = e^{rx}$$

$$f(x) = e^{x}$$

$$f(x) = e^{x}$$

$$f(x) = rx$$

$$f(x) = rx$$

$$f'(x) = rx$$

$$F'(x) = \frac{e^{rx}}{f'(y(x))}$$

$$F(x) = \frac{e^{rx}}{f'(y(x))}$$

$$F(x) = \frac{e^{rx}}{f'(x)}$$

$$F(x) = \frac{e^{rx}}{f'(x)}$$

$$f(x) = e^{rx}$$

$$E_{x} = \frac{e^{rx}}{2^{2}} = -\frac{1}{r}$$

$$f(x) = \frac{e^{rx}}{r}$$

$$F(x) = \frac{1}{r}$$

$$F(x) = \frac{1}{$$

$$= \cos \alpha \cos \beta - \sin \alpha \sin \beta$$

$$+ 2 \left(\sin \alpha \cos \beta + \sin \beta \cos \alpha \right)$$

$$- \times \left(\sin \alpha \cos \beta + \sin \beta \cos \alpha \right)$$

$$\cos (\alpha + \beta) = \cos \alpha \cos \beta + \sin \beta \cos \alpha$$

$$\sin (\alpha + \beta) = \sin \alpha \cos \beta + \sin \beta \cos \alpha$$

$$E_{X} \cos (\alpha - \beta) = \cos \alpha \cos(-\beta) - \sin \alpha \sin (-\beta)$$

$$= \cos \alpha \cos \beta - \sin \alpha \sin (-\beta)$$

$$= \cos \alpha \cos \beta + \sin \alpha \sin \beta$$

$$E_{X} \quad \alpha = \beta \qquad \cos^{2}\alpha + \sin^{2}\alpha = 1 \implies \sin^{2}\alpha = 1 - \cos^{2}\alpha$$

$$\cos 2\alpha = \cos^{2}\alpha - \sin^{2}\alpha = 2\cos^{2}\alpha - 1 \implies \cos^{2}\alpha = \frac{1+\cos^{2}\alpha}{2}$$

$$\sin 2\alpha = 2\cos\alpha \sin\alpha$$